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In the moment that he lifted it, he fulfilled the 7xn»

OVERVIEW
The X3 explains the reason that by the 0°1°»n '7 we day 2712 n°v1 ¥ and not 210°%
2717, is because as soon as he picks up the 121 2712 he fulfilled the mx» of '7 NP>
o' therefore it would be inappropriate to say 7% which indicates he will
perform the mxn, when indeed he already performed it. M50 presents a difficulty
with this interpretation and resolves it.
*

mooIn asks:
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And if you will say; since he fulfilled the %%, how can he make a 175923, for is it
not necessary to make the 77293 before performing the mzn»?!

ND0IN answers:
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And the *''1 replied, even though he fulfilled the mx», nevertheless he can still
make a 77272 since he is still occupied in the performance of the mxn, for he
needs to shake the 0°11 '7 by the recitation of the ;.

SUMMARY
One may make a 7572 even after he fulfilled the mx» as long as he is still involved
in the performance of the mxn.

THINKING IT OVER

1. mooIn previously stated that 9y connotes 72yw7 (mainly) and also Ra7?
(according to *99 21). When he makes the 2717 n9°01 ¥ is it to be understood in the
past tense (since he was already Xx1), or should it be understood in the future tense
(since we are to be JN°wY? 92w 7121 and he still intends to be ¥1v11 by 92777 NRP)?!

2. Why does mo01n not mention the 0°¥1w1 at the time of the 77°01?>

' However, since he performed (the major) part of the m3» already (by lifting them), he cannot say 2% which
indicates he will now (soon) be performing the m¥»n, when he already (basically) performed it and fulfilled (the
major) part of his obligation.

2 See 76 77w wW"RT NBOMN.
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